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ANSWER KEY 

PART I: WRITING                                                                         (35 MARKS) 

 

PART II:             READING COMPREHENSION                           (35 MARKS)  

Passage 1 

A. Indicate whether the following statements are TRUE or FALSE.           

(5 × 2 =10 marks) 

1. False    2. True    3. True    4. False    5. False 

 

B. Complete the paragraph with ONE word from passage 1.                     

(5 × 2= 10 marks) 

1. essential 

2. energy 

3. health 

4. intake 

5. ingredients 
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Passage 2 

C.  Choose the best alternative according to passage 2. (3 × 2 = 6 marks) 

1.  According to the passage, education 

(B)  makes us capable of understanding the world around us 

2. The word expertise in paragraph 4 

(B)  refers to a deeper knowledge about a certain field. 

3. In the passage, it is stated that education 

(C)  makes us more mature. 

 

D.  Students write 3 advantages of education from the passage.  

(3 marks) 

 

E. Match the words which appear in bold in the passage to their 

meanings.                                                                              (6 × 1 = 6 marks) 

1. b. citizens 

2. c. interpreting 

3. f. neglect 

4. a. grounding 

5. d. obtained 

6. e. civilization 

Part III – Use of English:  (30 marks) 

 A.  Choose the word or phrase that best completes the sentence.                                                                                                                                             

(5 × 1 = 5 marks)                                

1. d. to arrive 

2. c. must have 

3. d. eating 

4. a. it’s time 

5. b. would have played    
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 B. Complete the second sentence so that it has a similar meaning to the 

first. Use the words in capitals.                                       (10 × 1 = 10 marks)    

1. I would go 

2. isn’t keen on 

3. first time he has been  

4.  was finally able to 

5. wish I hadn’t broken 

 

 C. Complete the text with the correct form of the words in capitals.             

(5 × 1 = 5 marks)        

1. invention 

2. damaging 

3. environmentally 

4. powered 

5. sensitive 

 

 D. Fill in the gaps with an appropriate word from the box.                         

(5 × 1 = 5 marks)                                 

1. sporting 

2. biggest 

3. worthy 

4. ordinary 

5. pleased 

 

 E. Match the questions 1-5 with the responses a-e.          (5 × 1= 5 marks) 

1. b       2.d     3.a     4.e      5.c 
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